HBRAERL, IEEHAIRIZFEAERIIR
5, BUrRYEs, HEIER—T
THYK TR, FRIRETWRIEIGRF,
BERERRNE, EREFEFE, 18
ESIBFF=PIRIE, FelIRT I EIPAEREL
NFEFNEREE AL, EEEETZ
MEAARAR, MNERTEIZANESE, M
FEFIREIETREMERER, HIMEO
BEEE— T, HBERDRRAREKT
Rie, AFERERZ=PTFEE, iLREXR
FREHE, RIHEXR,
HAVERF TIEHRRIMTET K. B
EHEHZFML, MSEERARESE
HRZFEA, CHFEE, FERRKT
Z I,

Drones - Professional FPV dfone customization.

Embrace the extraordinary by choosing 6Ur‘FPV drone
customization service. Unleash your imagination and create a

unique flying machine together. Whether you are -a_.professional

racing player eager to gain a competitive edge or a 'ph_otography
enthusiast seeking a unique aerial experience, our profé*s‘sional
team is committed to turning your vision into reality. With N
exquisite craftsmanship and professional technology, from
fuselage design to power system, from electronic equipment
configuration to control performance adjustment, we carefully
carve every detail to ensure an extreme flight experience for yo
and create an exclusive aerial weapon for you. Let you freely
gallop in the sky and show unique charm.We will definit
to create a customized FPV drone that meets your s
and exceeds your expectations. And you will fly
and start a shocking flight journey by pilotin

drone tailored for you.



Conventional model FPV 10’

FPV 10' Z=#6A110<F FPV 10" X6ZF## 1~ 64 FPV 10" =R/, 10~J 8%

Size: 420*420*12mm )
Size: 456*456*60mm _
Size: 410*410*100mm



Conventional model ( FPV 7" 13" 15" )

FPV 7' Z=#A7~ FPV 13" Z®A13~ FPV 15" EE15~
Size: 276*242*50mm Size: 489*489*80 mm Size: 517*517*80mm



FPV 7" SR 752~

ek E Maximum speed: 150km/h
K E 2 Ty Rated Load: 1.5kg
SN EET Max Load: 2kg
&% VTX: 5.8G 48CH 3W Farthest flight 15km

SEEEfATE | Empty endurance: 29min 6s8000mah, 1.68kg
Ki# STl | Rated Load time: 14min 6s10000mah, 3.2kg

R~ Product size: 276x242+60mm
W24 R Wheelbase: 312mm
EBEE Arm Thickness: 6mm
B4/ Motor: 4%2807 1350kv 6s
BA%R Sk FPV Camera: 1800TVL 5-40V(Optional)
R Antenna: 5.8G SMA L150mm
BN Receiver: ELRS915M
GPStR R GPS: Optional M10
gy Propeller: 7040 3-blade (4pcs)
HEFF B Recommend Lipo Battery: 6s 8000mah 50C XT60 1kg

UAV parameter description




FPV 10" ZF#kt]] 1052 ~J 44

=R JE Maximum speed: 160km/h

KUEE =T Rated Load: 3kg

=N ] Max Load: 4kg

&% VTX: 5.8G 48CH 3W Farthest flight 15km

TEZEEAE | Empty endurance: 28min 6s10000mah, 2.2kg
KNE LS (E] | Rated Load time: 10min 20s 6s10000mah, 5.2kg

PRt Product size: 420%420+60mm

MER5hER Wheelbase: 396mm

VEEE Arm Thickness: 7mm

v

B4 Motor:  4%3115 900kv 6s

Rk FPV Camera: 1800TVL 5-40V(Optional)
K% Antenna: 5.8G SMA L150mm

AN Receiver: ELRS915M

GPSi&EIR GPS: Optional M10
20t Propeller: 1050 3-blade (4Pcs)

R Recommend Lipo Battery: 6s 10000mah 25C XT60 1.3kg

UAV parameter description




FPV 10"  X6EFEkt/1 1052~ 63

R EE

B E HAey

BRA R
&%

ZS 2 SRR e (]
BME SEATL RS (8]
PR R
HIR 5 R
NEEE
B4
BRK
Rk
A
GPSHRER
ROT

R

Maximum speed: 156km/h

Rated Load: 5kg

Max Load: 6kg

VTX: 5.8G48CH 3W Farthest flight 15km
Empty endurance: 26min 6s6000mah*2, 3.5kg
Rated Load time: 10min 6s6000mah=2, 8kg
Product size: 456%x456+60mm

Wheelbase: 484mm

Arm Thickness: 7mm

Motor: 6% 3115 900kv 6S

FPV Camera: 1800TVL 5-40V(Optional)
Antenna: 5.8G SMA L150mm

Recelver: ELRS915M

GPS: Optional M10

Propeller: 1050 3-blade (bpcs)

Recommend Lipo Battery: 2* 6S 6000 mah 50C

UAV parameter description




FPV 10" ZREk#/],1052~) 8%H

=R JE Maximum speed: 160km/h

KN F AT Rated Load: 4.5kg

SN EET Max Load: 5kg

B % VTX: 5.8G 48CH 3W Farthest flight 15km

SE LAY A | Empty endurance: 25min 6s10000mah, 3kg
BE ZEfnATE] | Rated Load time: 9min 6s10000mah, 7.5kg

R Product size: 410%410%¥100mm

MER5hER Wheelbase: 484mm

VEEE Arm Thickness: 7mm

AN Motor: 8+ 3115 900kv 6S

Bk FPV Camera: 1800TVL 5-40V(Optional)
Rk Antenna: 5.8G SMA L150mm

ZULAN Receiver: ELRS915M

GPSi&EIR GPS: Optional M10
M Propeller: 1050 3-blade (8pcs)

HFEFEM Recommend Lipo Battery: 6S 10000 mah 50C

UAV parameter description



FPV 13" EF#if1 1352~ 43

=R JE Maximum speed: 133km/h

KUEE =T Rated Load: 6kg

=N ] Max Load: 7kg

&% VTX: 5.8G 48CH 3W Farthest flight 15km

TEEASE | Empty endurance: 36 min 2 8s8000mah 5.2kg
BE AT 8] | Rated Load time: 11 min 2* 8s8000mah 11kg

PRt Product size: 489%489+80 mm

MER5hER Wheelbase: 647mm

NEEE Arm Thickness: 10mm

B 4] Motor: 4%4214 440kv 8s

Rk FPV Camera: 1800TVL 5-40V(Optional)
Rk Antenna: 5.8G SMA L150mm

AN Receiver: ELRS915M

GPSi&EIR GPS: Optional M10
20t Propeller: 1310 3-blade (4Pcs)

HEFEA Recommend Lipo Battery: 2+8s 8000mah 30C XT60 2.04kg

UAV parameter description




FPV 15" ZF#A]l 15~ 4%

=R JE Maximum speed: 130km/h

KUEE =T Rated Load: 7kg

SN EET Max Load: 8kg

&% VTX: 5.8G 48CH 3W Farthest flight 20km

TEEEASE] | Empty endurance: 42min 2*8s8000mah, 4.9kg
A LA EfE) | Rated Load time: 12min 2+8s8000mah, 11.8kg

PR Product size: 517%517+*80mm

MER5hER Wheelbase: 647mm

NEEE Arm Thickness: 10mm

B4 Motor:  4x4214 380kv 8s

Rk FPV Camera: 1800TVL 5-40V(Optional)
Rk Antenna: 5.8G SMA L150mm

Vel Receiver: ELRS915M

GPSi&EIR GPS: Optional M10
iy Propeller: 1507 3-blade (4Pcs)

HEFEA Recommend Lipo Battery: 2+8s 8000mah 30C XT60 2.04kg

UAV parameter description




71 8~f 1077

BRARE YEE: 2950005k BAR ¥ EEZI50005K RARE ¢S E 250005k

REZN: 280784 KIS k28128 K AEBL1IoEA]

BEEE 160AZHIN B 160/ 2465/)\F SOREISIREG

i k470 20km B ¢4720km BRI k1720km

BEHE: 15009 FEHE: 2000g ¥EHE: 30009

B&A#HE: 23009 &AHE: 25009 BA#HE: 4000g

BA CEE 33009 RARCER: 42009 BOAR YER: 60009

SSEAERATIE 29 min 6s8000mah,1.68 kg SSHAERUATIA29 min 6s8000mah,1.72 kg = BRAL[E:28 min  ( 6s10000mah,2.2kg)
B EMATE: 14 min 6s10000mah,3.2 kg BB AT ) 13min - 6s10000mah,3.5kg BN LA [8]):10min 20s(6s10000mah,5.5kg)
|E: 5409 #E: 608g & 793g

MG THANZE HIZR: 8THIEE R~F (mm) : 420+420+60

HHEE: 312mm BHEE: 354mm 28 10~TH1ZE

R~T: 276mm*242mm*45mm R~ 322mmX235mm*50mm hEE: 396mm

M 3K T300FREF 4 MR 3K T300FEF 4 k= TCMM BL F405 (T]iEfc)

‘%E: TCMM BL F405 (T[iEED) k3I%: TCMM BL F405 (TI3EFRT) BiE: TCMM 60AMN&—

#Bif: TCMM 60AIN&— \ #Bif: TCMM 60APN&— Elf%: TCMM 3WEfE (Tlitke)

EfE: TCMM 3WElfE (TTiEEeD) BlfE: TCMM 3WEIfE (TTithe) B3k TCMMI1800TVLIRZERTFPVIEMER KL (TTikELD)
E1% 3 TCMM1800TV LK ZE Y FPVIEE L B1%k: TCMMI1800TVLEZERFFPVIRM&R L (TTiEED) B41: TCMM 3115 900KV

(FJiEELD) B4l TCMM 2812 1050KV 2HEE: 1050 (BREFE )

B34l TCMM 2807 1350KV 2. 8040(PC) M 65 10000 45C XT60%EL
#2iEd:  7035(PC) WM 65 8000 50C XT603EkL

e 6S 8000 50C XT60Hk
UAV parameter description




10~] x 8
RAE Y S EZ5000K
FAS3115E 4]
BERE156/A BE/)\B
BRIZ $f720km

HEHE: 45009

&RAHEHE: 50009

&AL KEE: 8000g

ZEREERAT[E:25 min - ( 6s10000mah,3kg)
B &k £Ef7 AT [E):9min - (6s10000mah,7.5kg)

13~F Bt hie

BAiE kEE25000K

KAB42148 4

5% E133/135A B EG/Ni

BIZk1720km

FEHE: 6000g

&AFE: 7000g

BAFRKEESE: 11000/11300g

SR LR AT [E]:37/36 min (8s16000mah,4.9/5.2kg)
i # ST (E):11 mins(8s16000mah,10.9/11kg)

RE: 15809

R~F (mm) : 410+410+100

HMFE: 479mmEhEE 10~FX8H142
%Iz TCMM BL F405 (TJithc)
B8 TCMM 60AM&—

Elf&: TCMM 3WEf%E (TTiEfe)
Bgk: TCMM1800TVLIKZE RS FPVIRR 3k
(STiEELD)

B4l TCMM 3115 900KV

BiEE . 1050 (BREFe k)
M 65 10000 50C LCB504HL

¥BE: 1850/1950g

MLZE: 134158

HEE: 600/593mm

R~F: 540%540%14.5/489+489*80mm
M 3K T300BREF 4

k3= TCMM BL F405 (TJi%EL)
B8 TCMM 80AE K i

Ef&: TCMM 3WEfZ (TJiEED)
Bk TCMM1800TVLIRMFPViRE& L (TJiLELD)
B4l TCMM 4214 440KV

BhER:  1310CGKLFER)

HEF M 8S 16000 50C LCB50#Ek

15~F

RN kS E 250005k
RABK42148 4

e iR E 130 B/ i

BIZ ¥1720km

HEHE: 70009

A E: 8000g

A KEE: 130009

TR EER AT [E):42 min ( 8516000mah,4.9kg)
H#L LEA7 AT [E):12 min( 8s16000mah,11.8kg)

|E: 20809

22 15~FH158

HHEE: 647mm

R~f: 517%517+80mm

B 3K T300FRF 4

%#: TCMM BL F405 (TJEER)
B TCMM S0AE{AE
Bl TCMM 3WEIfE (TiEE)
EHRL: TCMM1800TVLRMFPVIRERL (TJiEAD)
BAl: TCMM 4214 380KV

BHER:  1507GRF R k)
M 85 16000 50C LCB50#EL

UAV parameter description




FRmE

i AR

S SE R

AR
i

FEEEYNEAE

L
KL
RO

ANTI12A
1.2GHz
1100-1300MHz
RHCP

5dB

80°

<2dB

<13

SMA

ANT33A
3.3Ghz
3290-3430Mhz
RHCP

5dB

80°

<2dB

<18

SMA

SAEPNS7

M 7

ANT58A
5.8Ghz
5645-5945Mhz
RHCP

5dB

80°

<2dB

<18

SMA

UAV parameter description




=
TSR
k2 30%
XFAE
ZREe il
BWANEE
SFEHER R
AEF
KEIT
FFFGPS
A4
BRH&EO
EEREs
RGBT 5
NG R8 4% O
Yy

PCBH# X~
ZHFL
E=

Name: F405 V1 #FDJI

MCU: STM32F405

Gyro: ICM42688

Support DJI: YES

BEC: 9V/2A5V/3A

Input voltage: 3-6 S Lipo
Support Receiver: PPM,lbus,Sbus,Dsmx
Black box: 16M

Barometer: {EEBosch BMP280
GPS: YES

Motor: 8CH

Serial port: 4CH

Firmware: Betaflight F4 INAV

LED: YES

Buzzer interface: YES

Betaflight OSD: YES AT7456E

PCB Size: 37+*37 mm

Mounting Hole: M3%30.5*30.5 mm
Weight: 9¢g

Name: F405 V2 X #5DJI

MCU: STM32F405

Gyro: MPU6000

Support DJI: YES

BEC: 9V/2A5V/3A

Input voltage: 3-6 S Lipo
Support Receiver: PPM,Ibus,Sbus,Dsmx
Black box: 16M

Barometer: fZEBosch BMP280
GPS: YES

Motor: 8CH

Serial port: 4CH

Firmware: Betaflight F4 INAV

LED: YES

Buzzer interface: YES

Betaflight OSD: YES AT7456E

PCB Size: 3737 mm

Mounting Hole: M3%30.5*30.5 mm
Weight: 10 g

Name: F722 8S

MCU: STM32F722

Gyro: MPU6000

Support DJI: YES

BEC: 10V/2A,5V/3A

Input voltage: 3-8 S Lipo
Support Receiver: PPM,lbus,Sbus,Dsmx
Black box: 16M

Barometer: {EEBosch BMP280
GPS: YES

Motor: 8CH

Serial port: 4CH

Firmware: Betaflight F4 INAV

LED: YES

Buzzer interface: YES

Betaflight OSD: YES AT7456E

PCB Size: 3737 mm

Mounting Hole: M3%30.5*30.5 mm
Weight: 9.5¢g

Name: F405 V2 Mix&k, DIEH, HEF
MCU: STM32F405

Gyro: ICM42688

Support DJI: YES

BEC: 9V/2A,5V/3A

Input voltage: 3-6 S Lipo

Support Receiver: PPM,lbus,Sbus,Dsmx
Black box: 16M

Barometer: fZEBosch BMP280

GPS: YES

Motor: 8CH

Serial port: 4CH

Firmware: Betaflight F4 INAV

LED: YES

Buzzer interface: YES

Betaflight OSD: YES AT7456E

PCB Size: 37+*37 mm

Mounting Hole: M3%30.5%30.5 mm
Weight: 95¢g

UAV parameter description




RS
FEER
k2 30%
0OSD
ZREre il
BB
ZEes
AEF
SEIT
12C{5
B B4
BRH&EO
ESRGS

RGBT #r
NG R84% O
ZHAL
£

Name: F405MK2 V2

MCU: STM32F405

Gyro: ICM42688

OSD: AT7456E

BEC: 3.3V,0.5A/ 5V ,2A/9V,2A
Input voltage: 3-6 S Lipo
RECEIVER: CRSF/SBUS/IBUS/DSM
Black box: 16M

Barometer: NO

I2C signal: YES

ESC Output: 4 Set

Serial port:  3Set

Firmware: FURYF40SD

LED: YES

Buzzer interface: YES
Mounting Hole: 30.5mm/M3
Weight: 9¢g

MK4 F405 MINI

STM32F405

ICM42688

AT7456E

/

4-6S Lipo
CRSF/SBUS/IBUS/DSM

16M

YES

YES

6 Set

6 Set

MPUB000:MAMBA F405_2022Al
CM42688P:MAMBA F405_20228B
YES

YES

20.0¥20.0mm,M3/M2

6.0g

MK4 F722APP

STM32F722

ICM42688

AT7456E

/

4-6S Lipo
CRSF/SBUS/IBUS/DSM

16M

YES

YES

8 Set

6 Set

MPU6000:MAMBA F405_2022Al
CM42688P:MAMBA F405_2022B
YES

YES

30.5+30.5mm/M3

100g

UAV parameter description

MK4 F722 MINI

STM32F722

ICM42688

AT7456E

/

4-6S Lipo
CRSF/SBUS/IBUS/DSM

16M

YES

YES

8 Set

6 Set

MPU6000:MAMBA F405_2022Al
CM42688P:MAMBA F405_2022B
YES

YES

20.0+20.0mm,M3/M2

6.0g




AS
FEER
k2 30%
0SD
BWANEE
ety g=
BEF
SRt
12C55
BB 1A%
BALQ
IS
HHER
EEBR
RGBT #r
NG R84% O
ZHAL
R
B8

Name: DCM465 X4

MCU: STM32F405

Gyro: ICM42688

OSD: AT7456E

Input voltage: 4-6 S Lipo
RECEIVER: YES

Black box: 16M

Barometer: YES

I2C signal: YES

ESC QOutput: 4 Set

Serial port: 6 Set
Firmware: DSHOT 300/600
OUTPUT CURRENT: 65A
PEAK VURRENT: 70A

LED: YES

Buzzer interface: YES
Mounting Hole: 60X60mm,M3/M2
SIZE: 67X75X17.5mm
Weight: 49 g

DCM470 X4
STM32F405
ICM42688
AT7456E

4-6 S Lipo

YES

16M

YES

YES

4 Set

6 Set

DSHOT 300/600
70A

75A

YES

YES
60X60mm,M3/M2
67X75X17.5mm
49 g

DCM475 X4
STM32F405
ICM42688
ATT7456E

4-6 S Lipo

YES

16M

YES

YES

4 Set

6 Set

DSHOT 300/600
75A

80A

YES

YES
60X60mm,M3/M2
67X75X17.5mm
49 g

DCM480 X4
STM32F405
ICM42688
AT7456E

4-6 S Lipo

YES

16M

YES

YES

4 Set

6 Set

DSHOT 300/600
80A

85A

YES

YES
60X60mm,M3/M2
67X75X17.5mm
499

UAV parameter description

DCM485 X4
STM32F405
ICM42688
AT7456E

4-6 S Lipo

YES

16M

YES

YES

4 Set

6 Set

DSHOT 300/600
85A

90A

YES

YES
60X60mm,M3/M2
67X75X17.5mm
49 g




S
S
FESR{Y
SEIT
0SD
BEC
BET
=
Y
LEDKT %5
BB
ERGS
GRS
LA R
5B

Name:
Processor: STM32F722 (216MHz)
Gyro: ICM42688
Barometer: DPS310
OSD: IFLIGHT OSD
BEC: 5V 25A
Black box: 8MB
Serial port: 6
Protocol: Smartaudio. IRCTramp
LED strip light: Yes

BB: Yes

Firmware: IFLIGHT_BLITZ_F722
External size: 30.5*27mm

Hole size: 20x20mm/p4

Weight: 5.0g

(AT7456E)

BLITZ Mini F7 (E55R 4-IN-1)

BLITZ F7 Stack (E55 4-IN-1)
STM32F722

ICM42688

DPS310

IFLIGHT OSD (AT7456E)
5V 2.5A 7/ 9V 2A

32MB

6

Smartaudio. IRCTramp
Yes

Yes

IFLIGHT_BLITZ_F722
36.5+35mm
30.5+30.5mm

7.89

BLITZ F745 Stack (E55 4-IN-1)
STM32F745

ICM42688

DPS310

AT7456E

5V 2.5A 7/ 9V 2A

32MB

6

Smartaudio. IRCTramp
Yes

Yes
IFLIGHT_BLITZ_F7_AIO
36.5+35mm
30.5+30.5mm

7.89

BLITZ ATF435 Stack(E55S 4-IN-1)
AT32F435CGU7
ICM42688

DPS310

AT7456E

5V 2.5A/ 9V 2A

32MB

6

Smartaudio. IRCTramp
Yes

Yes
IFLIGHT_BLITZ_ATF435
36.5+*35mm
30.5%30.5mm

7.8g

BLITZ Wing H743 (E80 Single )
STM32H743

ICM42688P

DPS310

AT7456E

5V 25A / 9V 2.5A/ 5-8.4V 62
MicroSD card

8

Smartaudio. IRCTramp

Yes

Yes
IFLIGHT_BLITZ_Wing_H743
36.9¥52mm

30.5¥30.5mm

35¢g

UAV parameter description




I
djo

il

<
C

C

5 32
=R /1L

5% 8] B8
1%
SRR
s

oy
2

WMABRE
BEC
&l 14
FLEE
Ry

Name:BLITZ Mini E55 4-IN-1 ESC

MCU : G071

Continuous current: 55A
Instantaneous current: 65A
Telemetry Output: Yes
Current Sensor: Yes Et51200
Protocols: DShot150/300/600/
MultiShot/OneShot

Input voltage: 2-6S

BEC: No

Firmware: IFLIGHT BLITZ G2 32.9

Hole spacing: 20+20 @4
Weight: 11.3g

BLITZ Mini E55S 4-IN-1ESC
BB21

55A

65A

NO

Yes EE£51200
DShot150/300/600/
MultiShot/OneShot
2-6S

NO

Bluejay Q-H-25
2020 @4

11.3g

BLITZ E55S 4-IN-1 ESC
BB21

55A

65A

Yes

Yes LE£51200
DShot150/300/600/
MultiShot/OneShot
2-6S

NO

Bluejay Q-H-25
30.5+30.5 p4

14.7g

30.5mm

BLITZ E55 4-IN-1ESC(G2)
G071

55A

65A

Yes

Yes EE£51200
DShot150/300/600/
MultiShot/OneShot
2-6S

NO
IFLIGHT_BLITZ_G2
30.5+30.5 p4

15.3g

UAV parameter description

wWws 0§

BLITZ Wing H743 FC

BLITZ Wing H743 (E80 ESC )
G071

80A

100A

Yes

Yes EE£51200
DShot150/300/600/
MultiShot/OneShot
2-8S

NO

BLHeli32

30.5+30.5 p4

14.5g




S
THRICRE
IR PR
L3
BIRR
S

WDR
RIEBE
7k
BRI

ERLL
Mz
AX/i
R~F
RINERAN
TEEE
£

&iF

Name: 1800TVL 5-40V

Image Sensor: 1/1.8" Inch sensor
Horizontal Resolutiol: 1800TVL
Video output: CVBS

TV System: NTSC & PAL(changeable)
IMAGE: 16:9’

WDR: Super WDR (HDR)
Min.lllumination: 0.00001 lux

Lens: 2.1 mm lens

Electronic Shutter: PAL: 1/50~100,000;

NTSC,1/60~100,000

S/N Ratio: >60dB (AGC OFF)
FOV: 165°

Day/Night: Auto/Color/B&W/EXT
Dimensions: 19%¥19%¥20 mm

Wide Power Input: 5-40V

Work Temperature: -20°C~+60°C
Weight: 5.9g

Remarks:

S SR

Name: CAMO1A Name: CAMO2A = Pame:gCAMQS?/zsw h Starlight S
Image Sensor: 1/3" Inch CMOS Sensor Image Sensor: 1/;84 Inch sensor '_rinage fr;slsr, | t‘.l‘ TZOOT\a/r '9 ensor
Horizontal Resolutiol: 1200TV Horizontal Resolutiol: 1200TV orizontal REsoutior.
: . Video output: CVBS Video output: CVBS
Video output: CVBS ) i .
. . TV System: NTSC&PAL (Switchable) TV System: NTSC&PAL (Switchable)

TV System: NTSC&PAL (Switchable) : o ’ .
IMAGE: 16:9 IMAGE: 16:9 & 4:3 (Switchable) IMAGE: 4:3 & 16:9(Switchable)

. WDR: Super WDR WDR: Super WDR
WDR: Global WDR , et YT Min llumination: 0.001LUX
Min lllumination: 0.001Lux Min.lllumination: 0.0001Lux |n..um|na ion: 0.

. Lens: 2.Imm/F2.4 Lens: 2.1mm/F2.4
Lens: 2.1mm/ F2.4 : : )

: - . . Electronic Shutter: PAL: 1/50~100,000;  Electronic Shutter: PAL:1/50~100000;
Electronic Shutter: PAL:1/50~100,000; . ' ' NTSC:1/60~10000
NTSC:1/60~100,000 NTSC:1/60~100,000 /o
S/N Ratio: S/N Ratio: S/N Ratio:

FOV-: 165" FOV: 165° FOV: 130°(4:3) /165°(16:9)
Day/Night: Day/Night: Bali/&¥/EBE/EXT Day/Night: Bzi/&%/BB/EXT
; S Dimensions: 19*19mm Dimensions: 19*19%x20mm
Dimensions: 19*19mm : . .
: } B Wide Power Input: DC4.5-36V Wide Power Input: DC4.5-36V
Wide Power Input: DC 5-25V } N o
: Work Temperature: -20°C~+60°C Work Temperature: -20°C~+60°C
Work Temperature: , o
it Weight: 5.9g Weight: 5.9g
Weight: 6.2g )
Remarks: Remarks:

Remarks: UAV parameter description



{£€ 5.8G VTX1000mW

EiR=2 Name: TX1000

# N\ & INPUT VOLTAGE: 7-26V
MEEBECH Y, | Onboard BEC output: 5V

% BHSTE £ Number of transmission channels: 48
& B TR Transmission power: 25/100/200/400/1000mW
TEEE Operation temperature: -25'C-105°C
&MY Control protocol: TBS SarAudio
KegEizEss Antenna Connector: MMCX

EL AR Connection: SH1.0-8P

A Mounting Hole: 20m&30.5m
M= Video format: PAL/NTSC

R~ Size: 29x29mm 37.5x37.5mm

i--pas Remarks:

UAV parameter description ‘



26. 3mm

37 mm

MMCX

®

7-28V GND SmartAudio SVOUT GND Video CamControl

8mm

i

%}.
+¢  dio

RN
RF BE#T

RF % ThK
BINER
B3V EFE

BRIEER
NIRRT
T NALIUR
PRI
R

BEE

=E

Name: 1.6W

Frequency: b5.8GHIERA. B. E. F. R5MNAE, 379 &EiE
Antenna interface: MMCX

RF impedance: 50 Q

RF output power: PIT, 25mw, 200mw. 600mw, 1600 mW
Input power supply: 7-28VDC

Current consumption: 200mA@12VDC@25mW/300mA@12
VDC@200mW@380mA@12VDC@600mW/480mA@12VDC@1W

MODE: %4842 /E. Smart Audio. &%
Input video impedance: 75 Q

Input video amplitude: CVBS0.8~1.2V
Video format: NTSC/PAL

Size: 37x26x8mm

Weigh: 17.5¢g

Remarks:



ZfEVTX 5.8G 3W

Name: 3W 5.8G 48CH 20km

» % Frequency: 5.8 Ghz
‘|V RIZEE S TransmissionDistance: 20 km
e 20x20mm/M2 ST Channels: 48CH
ENEE Input Voltage: 7-28V
B R i Es BEC: 5V/500mA
,l 41mm |

i

:@E]ri[-
$¢ dJlo

M Video format: NTSC /PAL
4 Th Output Power: 25/1.6W/2W/2.5W/3W(1.3A/12V)5$4 % S THE

B ThER E# | Output power self-test: Yes

EHiE R TransmissionDistance: =0.5km 25mW,=1km 200mW,=20km 3000mW
R~F Size: 25x41x13.5mm
AT Mounting Hole: M2*20+20 mm
KekizEN Antenna connector: MMCX
EfE Y Ef&1 . SmartAudio
MMCX 5VOUT GND VIDEO RX(SA) GND VIN(7-28V) =8 Weigh® 19.4g
Z3F Remarks:

UAV parameter description




S
AR
BTSN
B4l KV
THBR
TEBEE
BRER
BRAINE
BRALS
FER 2R
EBALAIRE
REEFLAL
Ly
HEE

Name: 2806.5 1300KV 7"

Motor size: ¢ 33.2x33.6 mm
Silicone wire:  18#160mm

Motor KV: 1300 RPM/V

Idle Current (lo/5V): 1.01A/10V
Lipo Cell:

Max ContinuousCurrent: 44.40A
Max ContinuousPower: 1056.72w
Max thrust:

Configu-ration: 12N/14P
Motor Resistance(RM):  64.06mQ
Base Mounting: M3*19+«19 mm
Propeller: 7 Inch

Weight: 47.59¢g

2807 1350KV 3-6S

¢ 33%20.1 mm
18#260mm
1350 RPMI/V
1.2A/12V
6SLiPo 25.2V
45.81A

1114w

24709 (6S/ 7"
12N/14P
58mQ
M3%19%19 mm
7 Inch

579

2808 1100KV
¢ 35.1+40.3 mm
18#190mm

4-6S LiPo
38.86 A
932.4 W

12N/14P
68mQ
M5

7 Inch
63.59g

2812 900KV
¢ 33.4+45.9 mm
18#300mm

4-6S LiPo
35.72 A
857.28 W

12N/14P
68mQ
M5

8-9 Inch
82.3¢

3115 730KV
¢ 37.5%45.9 mm
18#300mm

4-6S LiPo
50 A
1156 W

12N/14P
68mQ
M5

10 Inch
120 g

3115 900KV 3-6S
¢ 37.5+30 mm
18#310mm

900 RPMNV
1.28A/12V
6SLiPo 25.2V
65 A

1620w

4023g (6S / 10"
12N/14P

46mQ
M3*19%x19 mm
10 Inch

1159

UAV parameter description




S
AR
R K
B KV
THER
TEBEE
RABR
BAINE
RARLS
TEREL
B4l AP
ZEfLAL
e
HYlEE

Name: 3214 730KV

Motor size: ¢ 39#49.8 mm
Silicone wire: 18#350mm

Motor KV:
Idle Current (lo/5V):

Lipo Cell:  4-6S LiPo
Max ContinuousCurrent:
Max ContinuousPower:

Max thrust:

5519 A
132457 W

Configu-ration: 12N/14P

Motor Resistance(RM):

Base Mounting: M5
Propeller: 10 Inch
Weight: 148 g

68mQ

il

4214 440KV 3-8S
¢ 49+32.5 mm
14#800mm

440 RPM/V
1.0A/10V

6-12S LiPo

65 A

1616w

45829 (6S / 13")
12N/14P

54mQ
M4*30%*30 mm
13 Inch

246 g

S,

4214 440KV 3-8S
¢ 49+32.5 mm
14#800mm

440 RPM/V
1.0A/10V

6-12S LiPo

65 A

1616w

45829 (6S / 13")
12N/14P

54mQ
M4*30%*30 mm
15 Inch

246 g

1215 BOOKY,

feCEl™

4215 600KV
¢ 50.5%61.5 mm
14AWG

6S LiPo
58 A
1340 W
47509g
12N/14P

M6
GF1270-3
270 g

1218 540KV,

e

4218 540KV
¢ 50.564.3 mm
14AWG

6S LiPo
60 A
1395 W
5027g
12N/14P

M6
GF1308-3
300 g

FLasy HoaoY

4320 A4320 350KV
¢ 50%44 mm
16#600mm

350 RPM/V
1.09A/16V

6-12S LiPo

93A

4650w

9560 g

12N/14P

M4+30+*30 mm
12-13 Inch
301 g

UAV parameter description




S

AR
ERGK
B4l KV
THER
THEE
RABR
BARINE
RARLS
FEREL
B4l AP
ZEfLAL
e

BHYEE
=7F

1zn 430KV

FE (L

Name: 4720 430KV

Motor size: ¢ 56+70 mm
Silicone wire:  14AWG

Motor KV:

Idle Current (lo/5V):

Lipo Cell:  6S LiPo

Max ContinuousCurrent: 68 A
Max ContinuousPower: 1587 W
Max thrust: 5738 g
Configu-ration: 12N/14P
Motor Resistance(RM):

Base Mounting: M6

Propeller:  GF1410-3/HQ15+7+3
Weight: 370¢g

Remarks: 277 BB H%L

FoimlEBA,

720 4B0KY

Name: 4720 480KV

Motor size: ¢ 56%70 mm
Silicone wire:  14AWG

Motor KV:

Idle Current (lo/5V):

Lipo Cell: 6S LiPo

Max ContinuousCurrent: 82 A
Max ContinuousPower: 1948 W
Max thrust: 72069
Configu-ration: 12N/14P
Motor Resistance(RM):

Base Mounting: M6

Propeller: HQ15+7%3

Weight: 370 g

Remarks: /b7 B g%

UAV parameter description




BS
SR
RANE
RILEEE
=
BN E
RATIERR
B R
MERAE T
TR

S
R~F
ZETL
R&#ENO
B fEHMY
E=

36mm N\ 4xM3

\
RF1300 RF2515

1.130-1.270G 4.990-5.945G

5W 2.5W

30KM 12KM

1.4G 5.8G

7-36V 7-36V

12V/1.8A 12V/1.2A

5V/500MA 5V/500MA

NTSC/PAL NTSC/PAL
PIT/25mW/2500mw,/ F1T/25mW/400mwW/
5000mwW 800mW/1500mW/2500mW
8CH 80CH
53mmx32mmx15mm  Semmx36mmx8mm
20%20mm M2 30.5«30.5mm M3

MMCX MMCX .

SmartAudio SmartAudio

35.1g 16.6g

RF2505
4.990-5.945G

2.5W

12KM

5.8G

7-36V

12V/1.2A

5V/500MA
NTSC/PAL
PIT/25mW/400mW/
800mW/1500mW/2500mW
80CH
40mmx25mmx11mm
20*36mm M2
MMCX

SmartAudio

16.0g

RF2516
4.884-6.055G

3W

15KM

5.8G

7-36V

12V/1.3A

5V/500MA
NTSC/PAL
PIT/25mW/400mW/
800mW/1500mW/3000mW
96CH
30mmx36mmx15mm
20*20mm M2

MMCX

SmartAudio

21.6g

RF2535
4.884-6.055G

5W

20KM

5.8G

7-36V

12V/3A

5V/500MA
NTSC/PAL
PIT/25mW/1500mW/
2500mwW/5000mwW
96CH
53mmx32mmx15mm
20x20mm M2
MMCX

SmartAudio

35.1g

RF3300
3.290-3.450G

3W

15KM

3.3G

7-36V

12V/1.8A

5V/500MA
NTSC/PAL
PIT/25mW/2500mW/
5000mwW

8CH
53mmx32mmx15mm
20x20mm M2
MMCX

SmartAudio

35.1g

UAV parameter description




=

SR
RANE
RILEEE
=
BN E
RATIERR
B R
MERAE T
TR

ZETL
R&#ENO
B 1ML
EN—
=3F

RF3301
3.290-3.450G

3.5W

18KM

3.3G

7-36V

12V/2.6A

5V/500MA
NTSC/PAL
PIT/25mW/200mW/1000mW/3500mwW
32CH
53mmx32mmx15mm
20%20mm M2

MMCX

SmartAudio

35.1g

RF4600

4.6G-5G

3W

15KM

4.6G

7-36V

12V/1.8A

5V/500MA
NTSC/PAL
PIT/25mW/400mW/800mW/1500mW/3000mW
8CH
53mmx32mmx15mm
20%x20mm M2

MMCX

SmartAudio

35.1g

UAV parameter description




RIRELINIE

1640x 5128503

MERETEAR

Specifications

E &IEF Image
Adjustment

B35 Power

$£0 Interface

MR
Physical
Characteristics

RESIE R
Environmental
Adaptability

SHIER

M FF£EY Detector Type

334K Array Format

& ITIEEE Pixel Pitch
NS MUA Frame Rate
N7 E% Spectral Range
REENURZE (NETD)
RE. SLLEEE
Brightness and Contrast
R Polarity

4% Pseudo-Color

+3F% Cross-line

873 f& Digital Zoom

B4tz
Image Signal Processing
#SIBEF Hotspot Tracking

B $E1% Image Mirroring

s
Input Voltage Range

LRI B R
Typical Input Voltage
II#E Power Consumption

L
DigitalVideo Output
FEAURIR Analog
BiTRERED

Command and Control

#RECE & Weight

FRECR T Size (LxWxH)

T {438 EOperating Temperature
Range

1F1i#:E E Storage Temperature Range
7738 & Storage Humidity

IR & R AR FIA 4150640 x512- 17umBlS B E  EFIAKIRLISME FEI640x512- 12umil 4

Uncooled LWIR 640 x 512-17um Bird Repellent

Camera Core

SUFRIEFLLLSMEFEHMEE VOX uncooled

detector

640x512

17um

50Hz

8~ 14um
<50mK@25°C F#1.0

F30/B85) Manual/Auto

23/ # Black-hot/White-hot
HEB/FAL/ZE Hot Metal/Rainbow/Green
BR/HBR/FENShow/Fade/Move

x1/x2/x4

e S M HIE Non-Uniformity Correction(NUC)
B3R F% 12 Filter Denoising

FEl14:1%58 Image Enhancement

Bt Blind Element Replacement
LHREFEGPEERSNAE

Real time tracking or the highest temperature
position in the image

EH/E T/ % Left-right/Up-down/Diagonal

4~5VDC

5VDC

DVP (LVCMOS1V8)

RS232/UART(3.3V)

429+3g (TFLFH RAM) Excluding lenses and

extension components

45mmx28mmx21.8mm (FEFELFY RAM)

Excluding lenses and extension components

-40°C ~ +60°C/-40°C ~ +60°C

ffUncooled LWIR 640%x512-12pm Universal
Camera Core

FEFAKIRLL SN & E = 4640%512-12umAlits
£8f%Uncooled LWIR 640x512-12pm
Domestically Produced Camera Core

EHAKIRL SN B640%512 - 12pumiLaS 4
{fUncooled LWIR 640x512-12um
temperature measurement Camera Core

SRR LIIMEFEIRMEE VOX uncooled FMAFIEHILLIMEFEIFMIE VOX Uncooled  FARIEHIALIMETERMZE VOX

detector

640 x512
12 pm

50Hz

8 um~ 14 um

<50mK (@25°C , F#1.0%RAEsEk)

FahEz/ BRI Manual/Auto

ZH#H/EH Black-hot/White-hot

B IR/7HF2 Show/Fade

x1/x2/x4

I MEARIE /ERIGR/ TR A R/ T
Nonuniformity correction/Image enhancement/
Filtering

noise reduction/Blind element replacement

L T/EA/4ER Up-down/Left-right/Diagonal

5-20VDC

5VDC/ (<2W/25°C)

LVDS/PALHIZ

UART(3.3V)
<45g

<36 %36 x22(mm)

-40°C ~ 60°C/10°C ~ 35°C/<70%

Detector

640%x512

12pm

50Hz

8um~14um

<50mK (@25°C,F#1.0)

FaER/ BRI Manual/Auto

ZHY/E# Black-hot/White-hot
X1/x2/x4

B R/i#B2 Show/Fade

I MARIE/ERIER/ R IR R R/ T
Nonuniformity correction/Image enhancement/
Filtering

noise reduction/Blind element replacement

ET/EH/%8 Up-down/Left-right/Diagonal

5-20VDC

10VDC/ (<1.5W/50Hz)

LVDS/Cameralink/PAL#I T

RS232/RS422/UART(3.3V)
<35¢g

<29.5%29.5x29.5(mm)

-45°C~85°C/-45°C~85°C/<70%

uncooled detector

640 x512

12 ym

30Hz

8 um~ 14 um

<50mK (@25°C , F#1.0)

FaER/ BRI Manual/Auto

Z#HY/E# Black-hot/White-hot
BT1120

X1/x2/x3/x4/X5/x6/x7/x8

I MRIE/ERIGE/ RIS/ F LB R

FEHDRIRLL SN QAL 1
Uncooled LWIR 640 x 512-12um
Camera Core with Gigabit network

SUAIEFLIIMEF IR R

640x512

12pum

50Hz

8~14um

<50mK (@25°C , F#1.0 FRfESEK)

FahEz/aanR

BHVAR

Nonuniformity correction/Image enhancement/ 3£ AR IE /B R 1432/ 80K P 12/

Filtering noise
reduction/ Blind element replacement

ET/EH/%8 Up-down/Left-right/Diagonal

5-20VDC

5VDC/ (<1.7W @25°C)

BT1120/PALHIZ

UART(3.3V)
<115g

©41.3 x56(mm)

-40°C ~ 80°C/10°C ~ 35°C/5%~95%

TER

18-34VDC

28VDC/ (<3.5W/25°C)

) O/PALEI T

Zys

<79g

REMRT

-40 ~ 80°C/-55~80°C



Single-shot thrower

BE IR AR

Drone throwing device
T AN =%

Five-shot thrower

aNd
J0A

TE R IR AR

JASH




Drone battery parameters-6s
AV B S E-6S

8000mAh-6S 10000mAh—-6S

y |

EE: 1.135kg 10000mAh-6S1P-30C-3. 85V
8000mAh—6S1P-30C—4. 4V

' 140mm
‘ 150mm | : _

70mm
70mm

“&. HE: lkg




Drone battery parameters-8s
AN B S 4-8S

8000mAh—-8S

10000mAh—-8S-1P

! 153mm —‘

—1 0000mAh 8S1P

HE: 1. 25kg

10000mAh-8S-40C

HEE: 1. 35kg




BRR

7= AL
HIEREE
R
HEE
=
TEMHEE
TR
L1
itk
JEAR
AR
B
pIIE:EES
REFLEE
ki
Sl
B
Bk

RN

Name: ARS7

Product specifications: 7~F
Rack type: Tax

Size: 345mmXx284mm
Wheelbase: 319mm
Weight: 180g

Print weight: 8g

Carbon board material: T300
Upper board: 2MM

Medium plate: 3MM

Floor: 2MM

Side panel: 2MM

Robotic arm : 6MM
Strengthenpole: /
Installation hole spacing:
Fortinet:  30.5+30.5MM
Image transmission: 20*20-30.5*30.5MM
Electric machinery: 19MM
Camera: 19MM

Internal space height: 25MM

Name: ARS10

Product specifications: 10~f
Rack type: Tax

Size: 352mmX305mm
Wheelbase: 410mm
Weight: 246g

Print weight: 8g

Carbon board material: T300
Upper board: 2MM

Medium plate: 3MM

Floor: 3MM

Side panel: 2MM

Robotic arm : 6MM
Strengthenpole: 2MM
Installation hole spacing:
Fortinet:  30.5+30.5MM
Image transmission: 20+*20-30.5*30.5MM
Electric machinery: 19MM
Camera: 19MM

Internal space height: 25MM

Name: MARK4-8f& AR
Product specifications: 8%
Rack type: Tax

Size: 294mmX262mm
Wheelbase: 340mm
Weight: 175g

Print weight: 8g

Carbon board material: T300
Upper board: 2.5MM
Medium plate: 2.5MM
Floor: 2MM

Side panel: 2.5MM

Robotic arm : 6MM
Strengthenpole: /
Installation hole spacing:
Fortinet:  30.5+30.5MM
Image transmission: 20+*20-30.5*30.5MM
Electric machinery: M3X16-19MM
Camera: 19MM

Internal space height: 25MM

UAV parameter description




B

7= A
HERKE
R

L

=
TEMHEE
B B
1R

ik

R

AR

=1
hnsEAT
ZIfLEE
ki

Elf&

A
54 S8
NER= B S X

Name: MARK4-8V2
Product specifications: 8~f
Rack type: X

Size: 321mmX235mm

Wheelbase: 354mm

Weight: £9182g (REEFTENH)
Print weight: 8g

Carbon board material: T300

Upper board: 2.5MM

Medium plate: 2.5MM

Floor: 2MM

Side panel: 3MM

Robotic arm : 6MM

Strengthenpole: 2MM

Installation hole spacing:

Fortinet:  30.5*30.5MM 20MM*20MM
Image transmission: 20%20-30.5*30.5MM
Electric machinery: M3X16-19MM
Camera: 19MM

Internal space height:  25MM

Name: MARK4-10V2
Product specifications: 10~f
Rack type: %X

Size: 366mmX3 04mm

Wheelbase: 427mm

Weight: 228g

Print weight: 8g

Carbon board material: T300
Upper board: 2.5MM

Medium plate: 2.5MM

Floor: 2MM

Side panel: 3MM

Robotic arm : 6MM
Strengthenpole: 2MM

Installation hole spacing:

Fortinet: 30.5«30.5MM

Image transmission:  20%20-30.5*30.5MM
Electric machinery: M3X16-19MM
Camera: 19MM

Internal space height: 25MM

Name: MARK7

Product specifications: 7~f
Rack type: Tax

Size: 276mmx242mm
Wheelbase: 311mm
Weight: 178.6g

Print weight: 8g

Carbon board material: T300
Upper board: 2.0MM
Medium plate: 3.0MM
Floor: 3.0MM

Side panel: 2.0MM

Robotic arm : 6MM
Strengthenpole: /
Installation hole spacing:
Fortinet:  30.5+30.5MM
Image transmission: 20*20-30.5*30.5MM
Electric machinery: M3X16-19MM
Camera: 19MM

Internal space height: 25MM

UAV parameter description




FIR

7= e
HIZREE
R

R

B8
ITEHEE
FRARAA B
L&

iR

AR

MR

B
hnsEAF
RIEFLEE
KI5

Sl

Bl
Bk
RE=EEE

Name: MARKS8

Product specifications: 8~f

Rack type: X

Size: 303mmX292mm
Wheelbase: 336mm

Weight: 191g

Print weight: 8g

Carbon board material: T300
Upper board: 2.0MM

Medium plate: 3.0MM

Floor: 3.0MM

Side panel: 2.0MM

Robotic arm : 6MM
Strengthenpole: /

Installation hole spacing:

Fortinet:  30.5+*30.5MM

Image transmission: 20%20-30.5*30.5MM
Electric machinery: M3X16-19MM
Camera: 19MM

Internal space height:  25MM

Name: MARK9

Product specifications: 9~f

Rack type: X

Size: 34mmX275mm

Wheelbase: 384mm

Weight: 228g

Print weight: 8g

Carbon board material: T300
Upper board: 2.0MM

Medium plate: 3.0MM

Floor: 3.0MM

Side panel: 2.0MM

Robotic arm : 6MM
Strengthenpole: /

Installation hole spacing:

Fortinet:  30.5+*30.5MM

Image transmission: 20%20-30.5*30.5MM
Electric machinery: M3X16-19MM
Camera: 19MM

Internal space height:  25MM

Name: MARK10

Product specifications: 10~f
Rack type: X

Size: 344mmX294mm

Wheelbase: 397mm
Weight: £9235g (RNEEITENH)
Print weight: 8g

Carbon board material: T300
Upper board: 2.0MM
Medium plate: 3.0MM
Floor: 3.0MM

Side panel: 2.0MM

Robotic arm : 7TMM
Strengthenpole: /
Installation hole spacing:
Fortinet:  30.5*30.5MM

Image transmission: 20%20-30.5*30.5MM

Electric machinery: M3X16-19MM
Camera: 19MM
Internal space height:  25MM

UAV parameter description




B

7= A
HERKE
R~

L

=
fTEMHEE
BRI
1R

ik

AR

AR

B
hnsEAT
ZIfLEB
kIE

Elf&

A
54 S8
NER= B S X

Name: MARK7-NXkk

Product specifications: 7~f

Rack type: Tax

Size: 267mmX236mm
Wheelbase: 336mm

Weight: 179.2g

Print weight: 8g

Carbon board material: T300
Upper board: 2.0MM

Medium plate: 3.0MM

Floor: 3.0MM

Side panel: 2.0MM

Robotic arm : 6MM
Strengthenpole: /

Installation hole spacing:

Fortinet:  30.5+30.5MM

Image transmission: 20*20-30.5*30.5MM
Electric machinery: M3X16-19MM
Camera: 19MM

Internal space height: 25MM

Name: ARV-10

Product specifications: 2% F10~f
Rack type: IEX

Size: 348mmX348mm
Wheelbase: 438mm

Weight: 125mm

Print weight: 8g

Carbon board material: T300
Upper board: 2.0MM

Medium plate: 3.0MM

Floor: 3.0MM

Side panel: 2.0MM

Roboticarm : 7.0MM
Strengthenpole: /

Installation hole spacing:

Fortinet: 30.5+30.5MM

Image transmission: 20%20-30.5+30.5MM
Electric machinery: M3X16-19MM
Camera: 19MM

Internal space height: 25MM

Name: JBARMARK4-7~F
Product specifications: 7~F
Rack type: Tax

Size: 268mmX226mm

Wheelbase: 296mm

Weight: £9125g (REEFTEMEF)
Print weight: 8g

Carbon board material: T300
Upper board: 2.5MM

Medium plate: 2.5MM

Floor: 2.0MM

Side panel: 3.0MM

Robotic arm : 6MM
Strengthenpole: /

Installation hole spacing:

Fortinet:  30.5+30.5MM

Image transmission: 20*20-30.5*30.5MM
Electric machinery: M3X16-19MM
Camera: 19MM

Internal space height: 25MM

UAV parameter description




BIR

= e
HIZREE
R
HhEE
B8
ITEHEE
Bk
L&
iR
AR
MR
B
pIE:ERS
RIEFLEE
KI5

&
Bl
BBk

RE=EEE

Name: JRARMARK4-8<F
Product specifications: 8%
Rack type: Tax

Size: 308mmX254mm

Wheelbase: 345mm

Weight: #9135g (REEFTEMHF)
Print weight: 8g

Carbon board material: T300
Upper board: 2.5MM

Medium plate: 2.5MM

Floor: 2.0MM

Side panel: 3.0MM

Robotic arm : 6.0MM
Strengthenpole: /

Installation hole spacing:

Fortinet:  30.530.5MM

Image transmission: 20*20-30.5*30.5MM
Electric machinery: M3X16-19MM
Camera: 19MM

Internal space height:  25MM

Name: 13~f

Product specifications: 13~F

Rack type:

Size: 489mmX489mm
Wheelbase: 593mm

Weight: 29728 (REBEFTENH)
Print weight: 10g

Carbon board material: T300
Upper board: 2.0MM

Medium plate: 4.0MM

Floor: 4.0MM

Side panel: 2.0MM

Robotic arm : 10MM
Strengthenpole: /

Installation hole spacing:

Fortinet:  30.5+30.5MM

Image transmission: 20*20-30.5*30.5MM
Electric machinery: M3X16-19MM
Camera: 19MM

Internal space height: 25MM

Name: 15%f

Product specifications: 15~F

Rack type:

Size: 517mmX517mm
Wheelbase: 647mm

Weight: 754g

Print weight: 10g

Carbon board material: T300
Upper board: 2.0MM

Medium plate: 4.0MM

Floor: 4.0MM

Side panel: 2.0MM

Robotic arm : 10MM
Strengthenpole: /

Installation hole spacing:

Fortinet:  30.5+30.5MM

Image transmission: 20*20-30.5*30.5MM
Electric machinery: M3X16-19MM
Camera: 19MM

Internal space height: 25MM

UAV parameter description




Assembly instructions
A3

Complete machine parts: Use the M4x18 screws included in the package to fix the arm in order.

X

2

@ After fixing the arm screw holes, Quick release connectors for
connecting the fuselage to the arm. Note the serial number
corresponding to the arm




Assembly instructions
A3

Assemble the four arms in this order

3 1 © @D

After the assembly is complete, install the paddle
according to the serial number in the illustration.

The mushroom antenna must be
Installed before powering up after the
assembly is complete.




Thank you forwatching

A/
y




